= EER={1/ & B 100iE

741 x 2.958 = 8.176 x 7.286 =
.851 x 7.912 = 7.225 x 9.847 =
463 x 7.579 = 9.718 x 8.159 =
.841 x 3.959 = 8.261 x 6.936 =
.021 x 3.616 = 5.671 x 3.508 =
.872 x 6.329 = 2.933 x 6.522 =
.651 x 1.706 = 8.477 x 4.907 =
.754 x 5.071 = 1.791 x 1.454 =
.285 x 8.265 = 1.181 x 8.348 =
242 x 4.926 = 5.487 x 5.431 =
.628 x 8.718 = 4.438 x 7.804 =
531 x 2.745 = 4.996 x 6.258 =
.155 x 8.701 = 7.341 x 6.518 =
.957 x 5.438 = 5.691 x 6.678 =
481 x 6.484 = 8.842 x 5.773 =
.284 x 8.978 = 1.638 x 8.594 =
.488 x 8.569 = 5.614 x 7.033 =
.543 x 9.255 = 8.343 x 9.838 =
.337 x 5.718 = 4.794 x 4.644 =

.914 x 6.356 = 9.089 x 1.541 =



.262

727

.843

.893

.609

.586

.691

.267

.618

.937

.834

.981

271

.948

.658

.738

.448

.482

377

.575

.903

.995

.636

.755

.191

.481

.598

.038

.036

.693

.531

.012

.343

.786

.846

797

077

.487

772

=R =1

5 1008

7.441

2.008

9.205

6.624

3.185

5.652

2.846

9.822

7.135

1.772

3.891

8.039

1.887

4.827

7.653

6.392

8.535

2.935

x 8.411 =

x 5.053 =

x 3.234 =
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x 2.222 =

x 7.195 =

x 4.114 =

x 4.501 =

x 5.411 =

x 6.509 =
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= EER={/ & B 100:E

.483 x 3.716 = 5.862 x 4.782 =
.589 x 4.516 = 8.189 x 3.281 =
.818 x 4.745 = 3.505 x 7.313 =
.162 x 6.837 = 1.277 x 1.258 =
962 x 8.173 = 7.321 x 8.082 =
461 x 4.621 = 2.661 x 1.139 =
.246 x 8.726 = 8.144 x 2.454 =
414 x 9.095 = 2.941 x 9.568 =
.993 x 9.516 = 2.162 x 6.558 =
442 x 7.688 = 5.751 x 7.559 =
.043 x 1.497 = 9.855 x 7.965 =
.794 x 5.489 = 9.321 x 7.904 =
.689 x 1.124 = 2.801 x 8.161 =
.864 x 1.213 = 7.892 x 6.489 =
.031 x 3.448 = 4.712 x 4.151 =
.366 x 3.971 = 4.773 x 6.906 =
.102 x 3.699 = 3.651 x 3.119 =
.631 x 3.184 = 1.454 x 5.257 =
.826 x 4.571 = 5.425 x 2.121 =
774 x 7.408 = 7.291 x 9.751 =



